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5 Fe**(aq) + MnO, (aq) + 8 H*(aq) — 5 Fe**(aq) + Mn**(aq) + 4 H,0(1)

The sludcnlw&a@"s‘i 10.0 mL sample of the Fe?*(aq) solution. Calculate the value of [Fe?*] in the solution
if it takes 17.48 mL of added 0.0350 M KMnO,(aq) to reachthesquivatence-paini-alibotitratonn—
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M+1, - M],

To determine the molar mass of an unknown metal, M, a student reacts iodine with an excess of the metal to
form the water-soluble compound MI,, as represented by the equation above. The reaction proceeds until all
of the I, is consumed. The Ml,(ag) solution is quantitatively collected and heated to remove the water, and the
product is dried and weighed to constant mass. The experimental steps are represented below, followed by a
data table.
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MI,(s)
Data for Unknown Metal Lab
Mass of beaker 125457 ¢
Mass of beaker + metal M 126.549 ¢
Mass of beaker + metal M + I, 127.570 g
Mass of MI,, first weighing 1.284 ¢
Mass of MI,, second weighing 1.284 g

(a) Given that the metal M is in t.,xc,ms calculate the number of moles of I, that reacted.
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(b) Calculate the molar mass of the unknown metal M.
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5 18:2+((1q) + MnO, (aq) + 8 H (aq) — 5 Fc3+(aq) + Mn2+('aq) + 4 H,0(1)
| (i wn

a
The sludc,nlfu:uemm a 10.0 mL sample of the Fe? *(aq) solution. Calculalc the valuc, 0[ |l-*(, | m the solution

if it takes 17.48 mL of added 0.0350 M KMn()4(aq) to
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